



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{6}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{5}\right)^0 + \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{2} =$$

$$\left(\frac{1}{6}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{3}{4}\right) =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{6}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{28}{75}$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{4} = \left(-\frac{5}{36}\right)$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} = 0$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{93}{500}\right)$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{379}{500}\right)$$

$$\left(\frac{1}{6}\right)^3 - \frac{2}{5} = \left(-\frac{427}{1080}\right)$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{59}{100}\right)$$

$$\left(-\frac{1}{4}\right)^3 - \frac{1}{6} = \left(-\frac{35}{192}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) = \frac{9}{20}$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{11}{80}\right)$$

$$\left(-\frac{1}{5}\right)^2 - \frac{3}{5} = \left(-\frac{14}{25}\right)$$

$$\left(-\frac{1}{5}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(\frac{1}{6}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{7}{30}\right)$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{9}{10}\right)$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{61}{192}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{47}{64}\right)$$